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1.Construct a classical model in mathematical form including labor market, agpregate
supply, aggregate demand and money market. Use the model to prove the neutrality
of money.(12 points)

101

2.Construct an IS-LM-BP model in mathematical form and show what happens to
output, exchange rate and interest rate when the current account improves due to

L some unknown exogenous factors.{12 points)

3.Let the value of x at time t+] rationally expected at time t with information available
L then be denoted by x7,; = £ (x,,;/Q,) where E stands for mathematical
expectation and {7 | the information available at time (. (13 points)
- ) (1)Show E(x,,, — x;,,)=0
(Z)Let z, denote any variable whose value is known to agents at t, show
Elx, —x/,)2,1=0

15

4. Assume the following model

Aggregate supply m, =7 + (Y, -V )
- © ' Money growth (M}',P),—(M/P),_l(l+# -7
200 IS curve ' ¥, - v —-7(7., 2.) -¢(r—1‘)
Realexchangerate l EP /P ﬁ., 1(I-H:‘ )(1+ﬂ: )/(1+¢r)
Interest rates thj n" : SR

LMouve  (M1P),~(MIP) =a(¥, ¥, ) b(;, 1‘”):

where a bar above a vanable denotes its long-run valuc and a mdmate fore1gn
country ' ‘

7 = rate of inflation

i = growth rate of nominal money stock determined by mon‘etary authority
251 E = nominal exchange rate

i = nominal interest rate

r = real interest rate ._ _

L £ =rate of change of the exchange rate

Assume in the long run purchasing power parity holds and real interest rate is zero.
(1)Calculate the steady-state value of nominal interest rate and rate of inflation

(2)What is the steady-statee when 7z~ is constant.(13 points)
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A recent addition to the American scene{and one we have seen nowhere else
in the world) is The Weather Channel— a 24-hour cable channel devoted
entirely to weather reports. Basic economics tell us that the market price
of wheat must be determined by the demand for and supply of wheat. And
since the supply of wheat is in large part determined by weather conditians,
shouldn’t we be able {0 use those weather forecasts from The Weather
Channel to make money?

More specifically, let’s devise a trading strategy: If The Weather Channel
forecasts bad weather (e.g., hail in Kansas), we will contract to buy wheat in
the future at the price prevailing today. Then, when the bad weather
conditions reduce the supply of wheat, the price of Wwheat will consequently

- rise.” And (here comes the good part), when our centréct matures, we will
accept delivery of the wheat at the low pnce we contracted for today and
1mmed1ately sell 1t as a fugher prlce ‘

Q: Do you expect to make money on thls strategy‘? Why or why not? (5%)

[y

10

15

120

25

30




o T W g e b s

10

151

20

25|

o Bl KA B A R A R R

30

R

- MAF

{10 points) How much cash do you have to deposit to purchase 1000 shares of
XYZ Corp. common stock, listed on the Taiwan Stock Exchange, on margin at a
market price of $125 per share? If the stock price falis to $80 after 10 days, and
you receive a margin call, compute the amount of additional cash you have to

"~ post to maintain the position. What is the rate of return during this period if you

decide to liquidate your position? (Include in all calculations the security

. transactions tax of 0.3%, the sales commission of 0.1425%, and interest rate on

the amount of loan at 1(5%.)

(10 points) Assume that the following model describes equilibrium returns
Ri=a,+b, I, +b,I;+e, .

. Also assume that returns of the following three well-diversified portfolios A, B,

and C are observed.

Portfolio ER) by b,
A 7.8% 0.4 0.3
B 8.2% 0.6 0.8
C 10.4% 12 1.0
D 11.0% 1.0 1.0

a. From A, B, and C, compute the equation that determines equilibrium returns.
b. Is portfolio D correctly priced? Does there exist any arbitrage opportunity?
Show work.

(10 points) Why does the theory of financial markets suggest that trading many
different securities in ﬁl’any different markets might be desirable? We have seen
in many instances that the use of derivative assets caused serious financial
problems to banks and industrial firms as well. Are we really doing wrong in
introducing the “evil” derivatives? What seems to be the problem?

(20 points) You are a manager in the department of personal banking of a well
known foreign-bank. Make a recommendation for the following two investors
who are concerned about their lifetime financial planning. Miss Wang is 28 years
old and has accumulated wealth of NT$1,000,000 to invest. Mr. Chen is 52 years
old and has NT$15,000,000 in cash plus an apartment that is worth
NT$12,000,000. “

Speciﬁcally, allocate for the two individuals the available funds among three
accounts: cash, long term bonds, and equity portfolio. Be sure to include your
knowledge of the markets, the suitable financial instruments, and your personal -
view of how the markets are going to perform in making your investment
recommengdations, Thé investment horizons play an important role in determining
the investment strategy and should be explicitly assumed.
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